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Pensieve header: The divisibility condition for gA in Gassner calculus.
Using (Tx Ty - 1) |(a-0a) get ca=a - q (Tx Ty - 1) and then:
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dir =SetDirectory["C: /drorbn/Academn cPensi eve/2014-06/"1;
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Clear[a, B, ¥, 6 6, €, ¢ ¥, E u wl;
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oa+a (Ta-1) B (Ta-1) 6 (Ta-1)
{ta to tsh | ¥ (To-1) o486 (To-1) e (To-1) | {ha, hy, hs}];
¢ (Ts-1) ¥ (Ts-1) os+E (Ts-1)
¥l =%0 // dm[a, b, c]
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¥1[A] -Di agonal Matri X[{oa op, os}] // Sinplify // MatrixForm
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Clear [a, 6, ¢, E, w];

_ oga+a (Ta-1) 6 (Ta-1)
YO—P[WI ha oa+hsos, {ta, ts}. 6 (Ts-1) o5+ (Ts-1)
¥l =v%0 // dS[a]
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¥1[A] - Di agonal Matrix[{—, cs}] // Sinplify // MatrixForm
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Cear [a, 6, ¢, B, w];
) ga+a (Ta-1) 6 (Ta-1) .
yo_r[w, ha oa+hsos, {ta, ts}. 6 (Ts-1) oS+E(TS—1))'{ha' hs}]’

vyl =0 // qa[a, b, c]
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y1[A] -Di agonal Matri x[{oca, o©a, os}] // Sinmplify // MatrixForm

a (=1+Tp) Te a (-1+Ty) Te 6 (-1 +Tp) T¢
a (-1+Tg) a (-1+Tg) 6 (-1+Tg)
¢ (-1+Ts) ® (-1+Ts) E(-1+Ts)

http://drorbn.net/AcademicPensieve/2014-06/#MathematicaNotebooks



